Scottish Borders Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 9 - Jedburgh & District

3,835

3

959

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jim BROWN	Scottish National Party (SNP)	755
Scott HAMILTON	Scottish Conservative and Unionist	1,026
Kenryck LLOYD-JONES	Scottish Labour Party	119
Harvey OLIVER	Independent	70
Sandy SCOTT	Scottish Conservative and Unionist	1,094
Rory STEWART	Independent	600
Charles STRANG	Scottish Green Party	171
	Total	3,835

Candidate Scott HAMILTON Elected with 1,026 votes, being in excess of the quota of 959 Candidate Sandy SCOTT Elected with 1,094 votes, being in excess of the quota of 959

This report contains the transfers results.

Stage 2 - Surplus of Sandy SCOTT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	29	0.12340	3.57860
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Kenryck LLOYD-JONES	72	0.12340	8.88480
Transfer to Harvey OLIVER	96	0.12340	11.84640
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Rory STEWART	267	0.12340	32.94780
Transfer to Charles STRANG	66	0.12340	8.14440
Value of non-transferable ballot papers			69.59800
	Total		135.00000

This report contains the transfers results.

Stage 3 - Surplus of Scott HAMILTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	28	0.06530	1.82840
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Kenryck LLOYD-JONES	71	0.06530	4.63630
Transfer to Harvey OLIVER	122	0.06530	7.96660
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Rory STEWART	364	0.06530	23.76920
Transfer to Charles STRANG	53	0.06530	3.46090
Value of non-transferable ballot papers			25.33860
	Total		67.00000

This report contains the transfers results.

Stage 4 - Exclusion of Harvey OLIVER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	5	0.06530	0.32650
Transfer to Jim BROWN	7	1.00000	7.00000
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Kenryck LLOYD-JONES	1	0.12340	0.12340
Transfer to Kenryck LLOYD-JONES	2	1.00000	2.00000
Transfer to Kenryck LLOYD-JONES	3	0.06530	0.19590
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Rory STEWART	22	0.12340	2.71480
Transfer to Rory STEWART	54	0.06530	3.52620
Transfer to Rory STEWART	45	1.00000	45.00000
Transfer to Charles STRANG	2	1.00000	2.00000
Transfer to Charles STRANG	3	0.06530	0.19590
Transfer to Charles STRANG	1	0.12340	0.12340
Value of non-transferable ballot papers			26.60690
	Total		89.81300

This report contains the transfers results.

Stage 5 - Exclusion of Kenryck LLOYD-JONES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	4	0.06530	0.26120
Transfer to Jim BROWN	2	0.12340	0.24680
Transfer to Jim BROWN	27	1.00000	27.00000
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Harvey OLIVER	0	0.00000	0.00000
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Rory STEWART	36	1.00000	36.00000
Transfer to Rory STEWART	12	0.12340	1.48080
Transfer to Rory STEWART	17	0.06530	1.11010
Transfer to Charles STRANG	7	0.06530	0.45710
Transfer to Charles STRANG	7	0.12340	0.86380
Transfer to Charles STRANG	32	1.00000	32.00000
Value of non-transferable ballot papers			35.42060
	Total		134.84040

This report contains the transfers results.

Stage 6 - Exclusion of Charles STRANG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	9	0.06530	0.58770
Transfer to Jim BROWN	3	0.12340	0.37020
Transfer to Jim BROWN	81	1.00000	81.00000
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Kenryck LLOYD-JONES	0	0.00000	0.00000
Transfer to Harvey OLIVER	0	0.00000	0.00000
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Rory STEWART	52	1.00000	52.00000
Transfer to Rory STEWART	14	0.12340	1.72760
Transfer to Rory STEWART	17	0.06530	1.11010
Value of non-transferable ballot papers			81.44990
	Total		218.24550

This report contains the transfers results.

Stage 7 - Exclusion of Rory STEWART

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BROWN	82	0.06530	5.35460
Transfer to Jim BROWN	59	0.12340	7.28060
Transfer to Jim BROWN	260	1.00000	260.00000
Transfer to Scott HAMILTON	0	0.00000	0.00000
Transfer to Kenryck LLOYD-JONES	0	0.00000	0.00000
Transfer to Harvey OLIVER	0	0.00000	0.00000
Transfer to Sandy SCOTT	0	0.00000	0.00000
Transfer to Charles STRANG	0	0.00000	0.00000
Value of non-transferable ballot papers			528.75140
	Total		801.38660